1, What is the degree of the differentia
equation
3

d?y)2 _(dy)a,
dxc® elx

o

fa} 3
b 2
5
fe} 5
3
fd) 5

2. What is j:*ll-‘t —[x]) dx, where [-] is the

greatest integer function and n is
patural number?

an+1

fal

(d) 1

3. Consider the following statements |
[ y=xe2* is the solution of

Eﬁ‘q—y[ﬂ-rl].

x

. y=xIn|x|+cx is the solution of
ﬂ_x-by
dx X

Which of the statements given above
isfare correct?

fa) 1 only

fb) 11 only

fe) Both I and II

(d) MNeither 1 nor II

TODC-0-MTH/44B

o

4, 11 k in an arbitrary conntant, then what
in the general solution of the cquation

s g® Yo g2y
dx
fa) y+x=tlanlx+c)tk
H=0C

b)) x+ y=klﬂ.n[T

B e &mn[-ﬂ'f]

fd) y-x=tan(x+e)+k

5. What is _[ equal to?

tlx
10% +10°%
fa) tan~'(10%)+¢

(b) (n10)tan”}(10%)+c

1 =1 x
fl:j ﬁtﬂ.ﬂ [ll] 1+ﬂ

{d) In{10% +107%)+c

6. A wire of length 20 cm is to be bent into
a rectangle. Which of the following
statements is/are correct?

I. The rectangle of the largest arca
i the sguare.

1I. It is possible to form a rectangle of
an area of 27 cm?.

Select the answer using the code given
below,

(a) 1 only
fb) 11 only

fe) Both 1 and 11
(d} Neither I nor 11

[ P.T.O.




E x 2 E‘r
. I I!"'I: nx and 'FE=I] TI'IK, then
which ene ef the following is correet?
fa} =13 =0

ﬂ]} f-l + I? = [
fc f =21, =0
[ 2h=13=0

10. Consider the following statements :

Statement=l

x +128
x

a minimum value 48 at x=4.

The function fix)= has

Statement-=I1 :

As x increases through 4, ['lx)
changes sign from positive [0

negative.

§. What is the area of the region bounded

by |x|$2k and |y[€k, where k is a
positive real number?

Which one of the following is correct in
respect of the above statements?

fa) Both Statement-1 and Statement-I1
fal 2k 2 are correct  and  Statement-II

-ﬂ-".il ,:HE'E i:IPlﬂ.inH- Statement-I

552 (b} Both Statement-] and Statement-lI
fel are correct but Statement-Il does
idl 8k? not explain Statement-]

(c} Statement-l iz  correct  but

. : Statement-I1 is not correct
g, Consider the following statements

T . - . (d) Statement-1 is net correct but
2 IERHS UREHON S x=5" Statement-II is correct

Statement-] :
fix) is decreasing on the intervals

x<5and x> 5 For the following two (02) items :

Statement-II : Let
flx)> 0 for all x#5
. 1-cos2x o
Which one of the following is correct in . X<
respect of the above statements? Fix)=1 9 e
fa] Both Statement=l and Statement-II . e s
are correct and Statement-I1 16 ::,_;] _4.

explains Statement-

(b) Both Statement-] and Statement-11

are correct but Statement-lI does 11. What is lim f{x) equal to?

TODC-0-MTH/44B

K=p(=
not explain Statement- & 3 .
{c) Statement-1 is correct  but
Statement-11 is not correct b} 4
(d) Statement-1 is not correct but fe) &
Statement-1l is correct (d) 8

[ P.T.O,



™ whint ia .-r”::;l Fx) equnl 167

fal ©
i
fe) 8
j ) 9

=3

For the following three (03) items :

consider the function f(x) = x|x|.

13. What is IimI fix) equal to?

A ==

fa) -1
w 0
fe) 1

{d] Limit decs notl exist

14, What i the area bounded by the curve
fix), the x-axis and the lines x = =2 and
x=17

faf

| =

(B)

| b

B3| en

16, Conalder the followlng slatements &

. The lunction in increasing in the
intervnl (<o, =)

it. The function s differentinble at
x =0,

Which of the statements given above
in/are correct?

fa) 1 anly
fb) 11 enly
fe) Both I and Il

{d} MNeither 1 nor II

For the following two (02) items :

Consider the function

Sflx)= == (x>0 x=1)
16, What is -jﬂ:—t]u equal to?
fa) -flx?)
(b} =fx)
(6l flx?)

fdl flx-1

[P.T.O.




e S

- | Faa . " §
1% Wit hll -"-]”'1 l"'l" i -\."l_r['gjl."l. L “ I"'I“llﬂ Loy i, i x = H"I”. WITE wiliil s .I':" -I"ifl“'ll I'”':"
fl#
i =fix
fr)  nned)

(X M Daen?

e X o) Dwec’ 0

jdl 0 fill  2tani g fhee i)
For the following three (03) ilems : Ftor the following twe [02) items

caten=l o s i -
Let w= fl¥ = Xem_ s m‘,l'l__ Py A plane P in parallel to the line having direction
: . rallon “. 3 ;J,} and containa the line of

interacetion of the planes Gx + 4y =0z =2 ared
x =25+ 3z =0,

;
-{ |

18. What is the slope of the tangent to the

curve y= f(x) at x =0:57
21. Which of the following are the direction

ratios of the line of intersection of the

B g2 given planca?
(b)) 8nf3 /27 fa) (2 23, 16)
(c) 4m (b) (2 -23 -16)
(d) &m el (339

(d) (-1 3 -2

19. What is i—ﬂg at x = 0 equal to?
22, What is the equation of the plane P?

fa) 0 (@) 2x-20y+29z+2=0 (1)
i) 05 ) 2x-20y+20z-2 =‘ﬂ'[r.“
(&) 1 (o) 2x+3y+22-4=0
d 16 fl) x-3y+22+5=0

TODC-0-MTH/44B 9 [ BT.0.




yor the following twe (02) itema :

5 I8 A les
cuppose £ iz the sphere with the smallest

g L0 and C(Q 0O 1)

73. What is the radius of 87

ja) |IT

\3

e

e

o1

a4. On which one of the following planes

! does the centre of 5 lie?
' fa) x+y+z=-1=0

B x+y+z+1=0

fe} 3x+3y+3z-1=0

fd 3x+3y+3z+1=0

For the following two (02) items :

' consecutive vertices of a parallelogram ABCD.
25. What is the fourth vertex D7
| S 6-21]

b @0-1

fe) (LG

t’rﬂi L20)

TODC-0-MTH 448

dius that paszes through the points AL 0, O,

Let AL - 1 0), B(-2, 1 8 and C(-1, 2 7) are three

11

26. If angle BCD ia 6, then what is cos” @

ceuind to?

fal 26/77
b} 27177
fr) 82/237

(d) B3/237

27. For different values of m, the equation
43y = mx - m+ 2 represents

fa) parallel lines
fb) concurrent lines

(s} lines at a fixed distance from the
origin of coordinates

fdl the same line

28. The equation of the locus of a point
equidistant from the points (@ b} and
[ d) is [@=dx+(b=dly+k = 0. What is
the value of k?

fa) a?-c?+b?-d?
) & +d? -a*-b?
e (a?-c?+b?-d?y /2

(d) 2 +d? -a? -b? 2

[ P.T.O,



19. Gun.sid::r the following statements in 41. What is the harmonic mean of the
respect of the equation x2 +3y=0: numbera C{10, 3, <10 4), C(14 3,
LR c(10, 6 and C(10Q, 7)?
I. The equation represents the
equation to parabola thal opens f;) 3150719
upwards,
() 400019
ll. The axiz of the parabola is x =0.

_ fe] 252
Ill. The equation of the latus rectum

#dp=d=0. fd) 225

How many of the statements given

above are correct?

32. In a sample survey of a village, the
probability that a farmer is in debt is
0-60. What is the probability that three

B One randomly selected farmers are all in

debt [assume independence of events)?

fa] None

fe} Two
(al 0-000216
fdl All three
(b) 0-064
fe] 0216
Wh&t is the sum of the intercepts of (d) 0512
_ the line
5, Xy i :
| a? b2 a?+b The probability that a family owns a

laptop is 068; that it also owns a
desktop is 0-56, If the probability that
it owns both is 0-48, then what is the
probability that a randomly selected

on the m-gr-d.inatﬂ axes?

i s e

fa] 2, family owns a laptop or a desktop?
@ 1 fa) 0O-80
; fc) -2'
fe) 036
(d) a?+p? (d) 028

[ P.T.O.
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.'l.:l)-'"“ arn contning 10 white nnd 5 el Tl af7. A person X npeaka the truth j___qu.t of
Ly 5 (lmen and perpon ¥ speaks the truth

5 out of 6 timen, What is the probability
thnt they will contradict each other in
ninting the fact?

I two balle ore dvown nl random, 1hen
whnt fa the probobiliy that both the
palls nre ved?

2721
i () 3S10
L M 1/15
W A/ fr 1]/0G
WI rhe probability that a student passes
@ An umn contains 5 white, & _red ond l’*lﬂﬁwﬂﬂ the probability
4 blue balls, Three balls are drawn af that he passca both Physics test and
random. What is the probability thai English_test is_11/15. The probability
are drawn? What i the probability that he passes
fal 28/91 English test?
h) 13/15
& 24/91 ®)
fe] 14f15
{d) 23791
(d) 1

¥

36.) Under which of the following cenditions
may binomial distribution be used?

49, An event X can happen with probability
p and event ¥ can happen with
probability g. Further, X and ¥ are

I. The number of trials js infinite and independent events. Which of the
not fixed. following statements is/are correct?
II. The trials are independent. I.  The probability that exactly one of
. Each ftrial has two possible the events happens is p+q- Pq
: oulcomes. II. The probability that at least one of

the events happens is p+gq-2pg.
Select the correct answer using the code Ppe p+q=-2pq

given below. Select the answer using the code given
below.
11
fa) 11 only fa) 1 only
fb) I enly jb) 1l only
fe Tand Il fe) Both 1 and 11
() 11 and I fel) Neither I nor 11
DC-0-MTH 448 16
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;::' 40. Three faces of n die are black, Iwo ﬁu:g_s
i are white and one foce is_red. The die
| iz tossed three times. What is the
. probability that the colours black, white

and red appear in the fivst, second nnd
| third tosses respectively?

fjal 1/36

w16
fer T/36

fdl =,/36

41. A fair coin is tossed 4 times, What is
the probability that two heads do not
ooCUr consscutively?

] @ 1/8
i) 3/(8
fe} T/16
i @ 1/2

1 42, In a throw of three dice, what is the
probability of getting one prime number,
one composite number and one number
fe) 172
b 1/3
fe} 174

fd} 1/6

DC-0-MTH/44B

which is neither prime nor composite? -

17

43, An inleger in chosen ot randam from the
firat 50 integers, What is the probability
that the integer is neither divisible by
5 nor 97

fer) TS0
fa) 18/25
fc) 37/50
) 19/25
44, Out of 50 consecutive natural numbers,

two integers are chosen at random.
What is the probability that their sum

is odd?
fa) 1/2
(b) 2449
fc) 1/4

fd} 25749

45, The standard deviation of _100
observations is 10. 1f 20 1s added to
each observation, then what will be
the new standard deviation?

(a) 10
(b) 15
fe) 20
(d) 25

[ P.T.O.




46. Let X be a random variable following 49. If PlA)=1/3, P(B)=1/2 and
binomial distribution with paramelers PIANB)=1/4, then what is the
n=5 and p=k. Further, value of P(AuB)?

P{X = 1) = 0-4096 and P(X = 2) = 0-2048, (a) 7/12
W i r
hat is the value of k7 ) 2/3
fa) 02 fe) 3/4
B 025 fel} 11712
fe) 03 50. Consider the following statements :
[d 035 I. Mean and variance have the same

unit of measurement.

[I. Mean deviation and standard

47. The frequency distribution of the marks deviation have the same unit of
obtained by students in a Science measurement.
examination is given below :

Which of the statements given above
i rrect?
Marks 5-15 | 15-25 | 25-35 | 35-45 Lt
fa) 1 only
Humber
s:edws ol 20 | 30 | 30 | 20 (b) 1 only
fe} Both 1 and I
What is the arithmetic mean? {d) Neither 1 nor Il
fal 20
I b 25 For the following tweo (02) items :
i (el 30 Let &« and B be the roots of the gquadratic
l, ° equation
|
§ 2= x2 +(logg.sla?))x + (logg.sla)* =0

where a* #1 and lngn_E{aij:all Further,

48, If P(A) = 0-3, PlBl=0-49 and ﬂ‘.& = a(log 2(0-5)).
PiA|B)=0-5, then what is the value o

of P(B|A)? B1. What is i equal to?
fa) 0:325 fa) log 4(0-5)
(b) 0333 (B log, c(a?)
) 0375 (e} 2llog 2 (0-5)
(@ 0667 @ 2logy.5la’)

L

DC-0-MTH/44B 19 [P.T.O.




52. What is the relation between o and B? For the following twe [02) items :

Let sinA+8inB= p and coaA +coslnq.

fal o =20
M) 2a=p B6. What ia :: equal to?
A-0
fe] a=-2f fes) tun[—.z_]
(d) 20 =-f ) EMEA;LJ:]I
fe) tnn[ﬂgﬂ)
For the following twe (02) items : . cut[ﬁ ; E]
Let p= E?nllngm 2) and g = Ej'ulﬂglﬂ 54,
3 __12
56. What is P: q_z equal to?
53. If p+g=066, then which one of the pt+q

R 2
following is correct: fa) cos(A+ B)

f@ n<7 () cos(A-B)

() T<n<9 fc) cua[’—;-ﬂ—a}
e 9<n<12 {d) cos(n-A- B)
fdl n>12

For the following tweo [02) items :

54. If p+q= 15, then what is g- p equal to? Let p =cosec 20” and g = cosec 70"

fa) logjg2-5 | 57. What is [-f%'p -E] equal to?
(b) Slogyp2-5 fa) -1
fb) 0O
10log g 25
i) E10 &
{d] 15logyp 2:5 fﬂ'j a

IODC-0-MTH/44B 21 [ P.T.O.




pd 4 g2 - 61. In a class of 45 students, 34 like to play
g8. What is T equal to? cricket_and 26 like to play {@ﬂlll:.
pq Further, each student likes to play at

least one_of the two games. How many

(a) % students like to play exactly one game?
) 1 = o
() 30
@ g fe) 25
[d) 2 () 15

62. The system of equations
2x-3y=5=0, 15y-10x+50=0
EEUS:» N

following two (02) ite : . 2
For the wing (02) items fa) has a unique solution

Let l:uaﬂx+3y}-% and cust-‘.i-.::#iyl-t?,

(b} has infinitely many solutions
where =i < (2x+3y)<n and -n < (3x +dy) <.
fe) is inconsistent
59. How many values does [x + y) have?
fd) is consistent and has exactly two

(a) Two solutions
(b) Three
63. If
fc) Four
[1_—_-:]"'“ [m]““ 1
fd) More than four 141 1-i
where { = /-1, then what is the smallest
60. How many values does (y- x) have? positive value of (m - nj?
{a] Two fa) 1
{b) Three (b) 2
fc} Four fe) 4
fd) More than four (d 8
DC-O-MTH/44B 23
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5
g4. In obtaining the solution of the system of 66. The value of the determinant
equations x+y+z=7, x+2y+3z~=10 r
and x+ 3y+4z=22 by Cramer's rule, ] ;Ei
the value of y is obtained by dividing i mn
D by D,, where P q}
111 is equal to
D=|1 2 3
1 3 4
a b e
What iz the value of the determunant o | o r
fal =13 Il m n
(B} |a b
g 3
pqr
fﬂ‘f 13 'Irc; i & e
I m n
65. Consider the following in respect of | a p |
non-gingular matrices A and B :
fd (b g m
L (AR =4"1p"! e r n
Il (BA)(AB)™! =1, where [ is the
identity matrix
I (AB)T = AT BT 67. Let 1, o, 0? be three cube roots of unity.

If x=a+b, y=um+bm2, z=aw? + bo

How many of the above are correct? then what is x2 + y? +2? equal to? :
{a] None fal 6Gab
) One B 3ab
e Two @ a2 4p2
(d] All three @ 1
DC-0-MTH/44B 25
[ P.T.O.



g8. How many 4-digit numbers that are
divisible by 4 can be formed using the
digits 1, 2, 3 and 4 [repetition of digits

71. If p* =g¥ = r®, where x, y and z are

in GP, then consider the following
gtatements ¢

18
is not allowed)? . p qandrare in AP.

fa) 3 1.
k] 6

Inp, Ingand Inr are in GP.

Which of the statements given above
is/are correct?
fe] @

fer) 1 only
fd) 12
{b) 11 only

fe) Both I and II
69. If @ b, ¢ are the sides of a triangle ABC

and p is the perimeter of the triangle, {d) Neither [ nor I
then what 1is

pPre aq b
¢ pra- b

73 If A and B are non-empty subsets of
a set, and A® and B° represent their

c a p+hb complements, then which of the
Pl following is/are correct?
equal to? . A-B=Bf-A°
. A-B*=A°-B
(a) p*
Select the answer using the code given
() 2p? below.
¢ 3p? fa) 1 only
fb) 11 only
d 4p®

fej Bothlandll

{d) Meither 1 nor 11
70. Which one of the following is the greatest

i coefficient in the expansion “”1*,"‘]“]"&? 73. Let y=x! and z=2x)!. If (z/Y) =120,
{a) The coefficient of 100 then what is the value of (3x)!?
fa) 362880
(b) The coefiicient of x”° A
{e) The coefficient of x! () 90720
(d) The coefficient of x50 fd) 45360
DC-O-MTH/44B 27 [ B.T.O.




Th. How

74. Let n be a natural number. The number

of consecutive zerps at the end of the
expansion of n! is exactly 2. How many
values of n arc possible?

fa) 3
) 4
fe} S
fd] More than 5

If  (10+logyq x) (10+logpy) and
(10+logys ) are in AP, then consider
the following statements :

. The GM of x and z is y°.

. The AM of log;p x and log)g 2 is
logp ¥ :

Which of the statements given above
is/are correct?

fa) 1 only
fb)
f¢) Both I and II

I only

fd) MNeither I nor I

many terms of the series
1+3+5+7+...amount to a sum equal
to 123456789876543217

(@)
it}
fc)
(d)

11111111
11000001 1.
111101111

111111111

DC-0-MTH/44B
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77. How many terms arc identical in the
two APs 19,21 23, .. up to 110 terms
and 19, 22 25 28 ... up to 75 terms?

fea) 35
fbl 36
fc) 37
fc) 38
T8, If
~1+J-3
WS

then what is the value of

[1_'_‘1.19 ‘_mﬂﬁ-]]ﬂﬂ' _{] _mﬁ {_aﬁﬂ}-ﬁﬂ?

fa) -2

b} -1
fcg O

(d) 2

79. What is the remainder when 5%° jg
divided by 132

fa) 10
b} 9
fc) 8

(d &

[ P.T.O.
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g0, What is the value of the determinant of 83. What is the value of sin® 1“ @ is the
the inverse of the matrix acute angle between the lines whose
_ cquations are pEray= p+q and
['4 '5];. plx - 1)+ glx + y) =297
2 2
3
, @ 7
fa} 5
3
fb) 1 fls) a
fe} 2 :
(el 2
(d} 4
< 1
g1. Which one of the following is the @
perpendicular form of the straight line
JEA: 'l-ﬂy"I Te
3 T
fal ;.i=—i;—.-u:+E 84. The circle x2+y®-2kx-2ky+k?=0
' touches the x-axis at P and y-axis at Q.
What is PQ equal to?
(e]] x * e 1
7 T
%) G @
J
§ b 2k
b BE 2
. 2 xr = y=AT
é o emE 7 e 23k
d
P (@ 4k
% o

85. What is the distance between the foci of

82. If the vertices Band D of a square ABCD
the hyperbola x? —4y? =1?

are (2 3) and (4, 1) respectively, then
what is the area of the sguare?

fa) 2 sguare units K 43
(b) 3 sguare units (b) /5
lc) 4 square units e} 243
(d) 8 sguarc units d) 245

DC-D-MTH/44B 31
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&
5
e
H
aL
I
=

. Ge=a+b. If |d|=Ib1=2

and a-b =2, then what is the valuc

87. How many of the following can be

a wvector perpendicular to both the
vectors 21 — j+ K and i+ j+3K?

1. 4i+5)j-3k

. -8 -10j+6kK

1 - -
m. 2 4i=57j+3k
Eﬂ{ ] ]

Select the correct answer.

fa) MNone
fb) One
fe) Two

fd) All three

33

g8. What is the arca

of the parallclogram
pms:ntﬂd by the

h arc e
whooe sides dﬂi+]""2£?

vectors { +2]+ 3k an

fe) %Jﬂﬁ aquare units
() % J27 square units

fc) 26 square units

(d) JZ7 square units

g9, The position vectors of the vertices A, B,

c and D of a quadrilateral ABCD are
given by 3i +4j-28, 4i-a4j-3k,
oi —3j+2k and 6[ -2j+K respectively.
What iz the angle between the diagonals
AC and BD of the quadrilateral?

fa) 90°
fb) T5°
fc) 60°

(d) 45°

90. A force F = 2{ - A J + 5k is applied at the

point A(L 2, 5). If its moment ahe::m the
point Bl-1, -2 3) is 16{ - 6] +2Ak, then
what is the value of A7

fa) -2
) 0
() 1
(d) 2

[ P.T.O.



sor e nllowing two (02} ftemn ; o4, Whant In =1 eounl 107

~pnsider the netion fx) = 1- ~,:|[|_1-. N, fir) ::-'"ﬁ
:I r
o1. What ia the domnin of the funation? il E-Ih &
() (L
.' {©) “ins
f-h, [—h"n,_ 1*-'-:' 4]
fcb 10 =) fel) 20In5

fed) (= o)~ {1}
For the following two (02) items :
92, The function has Let 4 = J'.';Jr conx dx and v = [e*ainx dx.

fa) a minimum at x =1
9. What is u+ v cqual to?

(b} a maximum at x =1 d
@ -5
fc) neither maximum nor minimum at elx
x=1 Hii
bl m—
(d)] no extremum elx
clu

fc) o

v

() e

For the following tweo (02] items :

%Cnnsider the function
96, Consider the following :

I x

L | 45F), x<0

| f{x}—{m‘HJ x20 . dﬁu:'”

o 2y
93. If the function is continuous, then what dx

is the value of k? Which of the above is/are correct?
(a) 05 fa) 1 only
fb) 1 fb) 11 only
fc) 1-5 (¢) Both I and I
[d) 2 ; fd] Neither 1 nor I

EPC-0-MTH/ 4R e [ P.T.O.



for the following twe (02) items -
Let the function f{x) = |x - 3+ |x =4 e defined
an the interval [0, 5),

g7. What is gxy at x = 3-5 equal to?

fa} O
w1
fe) 2
fd) 35

98. Consider the following statements :

I. The function
*x=3

15 differentiable at

II. The function is differentiable at
x=4.

Which of the statements given above
i5/are correct?

fa] 1 only

(b) 11 only

fe} Both I and I

(d} Neither I nor II

For the following twe (02) items :

10* - 107*

Fans:idcr the function f(x)= 10F T 10°F

.99, What is f o f = o [ = [0} equal 10?
fa) O
b 1

fe} S
fd] 10

DC-0-MTH/44B

a7

100. What i the i

nverse of the function?

fe) lopgygl2x - 1)

1
{is} Elngmﬂx =1}

fel

fed)

101, What is the sum of the binary numbers
(1011011015 and (100011)57

{a) (110010000},
(b} (110001000),
fe) (110000100),

(@ (100100000),

102. Set X contains 3n elements and set Y
contains 2n elements, and they have
n elements in common. How many
elements does (X =Y )x ¥ = X] have?

@) Sn*
(b} an?
fc) 3n®

fd) 2n?

[ P.T.O.




103, Let

.."1-‘"':"."'1-"'"1. .

5 | = - “. L -?.. dll' I
Be=il L4 9. How Wy eley 195
the subset of Ax |3 -.‘.um::nimu
relation B = {(x, y):
XxeAand ye B?

nents does
ding to the
11 < ) hawve, where

(@) ©
@) 12
(@ 15

fdl 16

104. Consider the following statements

Statement-] -

If X is an nxn matrix, then
det{mX) = m" det(X), where m is a
scalar,

Statement-I1 :

If ¥ is a matrix obtained from X by
multiplving any row or column by
a scalar m, then det(Y) = mdet[X).

Which one of the following is correct in
respect of the above statements?

fa) Both Statement-l and Statement-ll
are comrect and  Statement-ll

explains Staterment=]

{b) Both Statement-l and Statement-ll
are correct but Statement-ll does
not explain Statement-

fe) Statement-1 is  correct but
Statement=1l is not correct

(d) Statement-] is mnot correct but
Statement=Il is correct

39

10B6. Consider the following pintemenita ot

71 23 48
the mntrix M =| 57 28 29|:
65 17 48

Statement=1 : The inverae of M does not
exial,

Statement=11 : M is non-aingulnr.

Which one of the following is correct in
reapect of the nbove statermenta?

fa)  Both Statement-1 and Statement-Il
are correct  and  Statement=Il
cxplains Statement-]

fi) Both Statement-1 and Statement-II
are correct but Statement-11 does
not explain Statement-]

fe}  Statement-I i3 correct but
Statement=11 iz not correct

fd} -Statement=l1 is not corTect but
Statement=11 is correct

106. What is

)

cot™ 9+ ::mm:'l[
equal to?

(a)

£ | =

(b

x| =

fe)

k3=

|

()
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| B (b)

114. How many values of m are possible?

fex) I"i.lnneq
) One
fc) Two

fd)

More than two

For the following two (02) items :

There are 8 points on a plane uut of which
4 points are collinear.

115. How many triangles can be formed by
joining these points?

(@) 56
(b) 54
fc) 53

(d) 52

116. How many quadrilaterals can be formed
by joining these points?

[fa) -TOr

69
I R

" d) ‘None of the above
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For the following twe (02) items : .
Let flx)=ax? + bx +cbe a quadrau:: pﬂl}"nﬂﬂuﬂ]

such that f(1) = f4) = 2. Further, 2 js a root of _

flx)=0
117. What is the other root of f(x) =07
fap 1
b 2
fe) 3
(d}l Cannot be determined

118, What is (z+ b+ ¢) equal to?
fa) © |
B 1

o) 2. . -
fd} Cannot be determined

For the following two (02) items

Let
£ coszb . sing
| -sin® cos@

119, What is the value of the determinant of
the matrix A7

fa) ©

) 1 :

fe] cos40-singd

fd} mazdﬂ—ainﬂﬂlﬂl
120. What is [adj 4]"! equal to?

fa) —-A

(b} -AT

e A
(d AT
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